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Note: -You have four choices for each objective type question as A, B, C and D. The cholce which you think Is correct; fill that cigcjaum front of that

question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will W&jm_';mark. .

SECTION-A (il.»

Q.1 Questions /=iy A 8 C
1. _+fd/é 70% 7 _1 ' 19
Fractional form.of 70% is. 10 7
: e
—+(f’»‘—’(3§
2. 1 . 3% 1% 33%
5 in terms of percentage is:
3. - $#8i¥ 144, 100,000 nie—
Zakat on an amount of Rs.100,000 is: guiadlo 2P0 v
A2 Psbhe St Gozr SO it 11 11 1 1
4 11 there Is one daughter and one agnatic 5’5 ‘2‘»2 Eg
granddaughter , their shares are respectively:
: 4 x100 | £ =4 X e
i nesiped > b i BE | A 100
Find the profit %, where CP < SP. profit Profit 10 CP x pro it %
CP CP 100
. _ngfa,ltq..k'ﬂ,!/'utbﬁ.z,gléf(:}lfa{ élv J! !“4/
- 'il'shgaa:gg.unt which is paid by bank on the deposits Profit Bonus Premium :
7 -4——(71‘#/ uq..lrl,&‘uéyﬂjg;}b'(l?l‘fgu J?% Jgéf‘/lll Jé[f:'
¢ I;gfle dtax charged on all taxable income is Salas bk Direct tax A ‘
- T -
8. \/\/—= 2 2 ’2% R
™ A id ik »¥ U j "
In a", "n" is called: Radical Radicand Exj.gnnentv' B ;
10. ‘4'2‘5/50 =i 3 3 6 9
Thlrdtermofa,,—n+3ls ; AW
11, o tudiur12,1621,27 34 30 31 o
Next term of 12,16,21,27 Is: it
: AUB=27UnerdbtnBuidll ; .
12. | If Aand B are two non-empty sets, then ) ANB BNA 9 .
AUuB=7 R
13. ‘(AﬁB:)C=? AN B¢ A UB© - ANB
14 y=23 x=20t y=3x /i 5 3 6
If y=23x thenfor x =2 wehavey=" paz g, B
_4#(3(17'/:&72/-)&}4?/%)1)’&)’.&):-: ol bosl vl Lr'jlld,)“ ‘
15. | The score which occurs most often in a set of data Mode Mean Median Geometrie mean
_is called: A 5
* 1
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e~ Section B “, G;mplﬂsory. Attempt any three (3) questions from Section C. L MLk g_‘jflaut f' [ W 51 TR N

A '- SECTION-B /1.~

1 Write short MWers to any six parts. (6x2=12) _é./. Feliz 4 L,lzhgc.df .2

iExpress 625 as percentage. ' 4 ,éd.;u:yém,zs N
4‘lf -:-ofthe students in @ school have been away for a WSS Sy fTUn s, G5 %g}‘fu:d}/;bgﬁ )

. holitlay then how many In every hundred have been on .\

i holtday? 2

Deme cwmpound proportlon éhyﬁdyu*f, i
| ‘Calmxai» Zakat on golg amounting to Rs. 11, 10,000. P 54U g sm10000 LS L /1 v

P! ) . éu’/ﬂg 5w
ut‘tr on a rice crop produced by natural 'ééf}w;j’“r” 6,00,000 &{L-d)(jd)lg-i’x,édwazi p
‘ .ounting to Rs. 6, 00,000.
when CP=Rs.1540, [oss =5%. 5% = (AP &3 1540 s b Gl s jed i
ked price when, SP =Rs.515.20, Discount=8%. 8% _—._,,a_f,gr,, 515,20=..~;},/'.:/§,,Qé’-§p"’.>‘3.}6» il
& Defino & ifiess partnership. IS oMK i
“ Write shert _npéwérs to amy six parts. (6x2=12) ,aif4 F =g 4 L,lz!é;;—(}f 23
& Define pﬁamium. ; _Z:.»J,-TJK*/, i
) Detfne pay ofc.ier. ‘ . -é-if\.yﬁc;/},fdr i
: né‘o;ﬁen’égo Saudi Riyal into Pakistani rupees, 7 ‘ééJoEUf-UZJ/&O(Q?UQ/U»”ZQO i
S if e rate-is TRiyal = 58.82 rupees. - .2/58.82 =l fhe.
@De{ﬁne property tax. 4 . _ ‘é{.r..g/"'é‘fg‘&/,i/, v
Deﬂhe ra?nal numbers and glve an example. _.’ff-::d&wyfluléqﬁd;ulobb V
it Simpllfy spd glve answer In exponent form. 8a° _E-Lpu’iféu.;,}.,li.mé/; i
?Simplify- amd.gxpress answer with 'posutlve indices. [a—cl-;} ,qutfduoio?.,,lﬁ u!éé/;} Vi
| Evafuaie - 2log3+3logd-+4log5~2log6 - ES i
"ﬂlf logx==2 0374then find value of x. ,Z‘;{(F’:/EJ x 7 logx=2.0374 A i
i Wmé short anSWers to any six parts. (6x2=12) ,é4 iz ¥ LJZI;:;¢&! 4
iiDe‘ﬂne corﬁplement of a set. “4’54/7(5:‘4{3/1,44’ i
i A-T{k,4,7,;8}and & ={3,4,5,7} then find ANC . e ANC JaC= {3,457 o A={1,4,7,8} /1 i
: f@efhr;e-blﬁar‘y:relauon. E o 8l i

_EPBxATB={13} s A={3,56} /1 v
& e /T HGOWEE s v
eV °CT 220°F i

Deﬂne range T _ ‘ HEy e i
Find the range for the given data, 2,9,3,6,12,8. 2,9,3,6,12,8a4’££r;""or’&l;,,’id,5 viii
-én—'g‘/‘."da)b Lix
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. Attemptany THREE questions. Each question carries Eight marks.  (4+4=8) . »ood
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5%a) A factory makes 600 suits in 9 days with the help of 20 machines. How many suits can be made in 12 days

o

with the help of 18 machines?

’ 3 % " o5 é-i
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(b) Workout the share of each, if the inherited property amounting to Rs.7,50,000 is left by a deceased who also b _ ‘
left one widow, two sons and one daughter. T z;ag

. i

bW oS 53 )48 5% LS. L85 (S DBt B8 Te512000 S 4F U L3,248000 KIS sl (a).8 | X

Sl L
6.(a) Haris purchased a car for Rs.248000 anc_! spent Rs.12000 on its denting and painting. He sold that at the l

profit of 5%. What did the cusfomer pay to Haris?

_a?:(f}”ﬁ]mwu% & ;Jc’,b‘ﬁ-@@d,b,téé.us NESTT P I TINPIY- T Zbidbdl (Yo ;

(b) A financial institution charges Rs. 55 simple profit on a sum of money which is borrowed. for five months.

Given that the rate of profit is 12% per annum, find the sum of monay.

érk’fh,_/’duﬁ/‘t 50 <217 716% c)c.fug K Si.g-s3500 4SS LJ: (@)1

7.(a) The price of a bicycle is Rs. 3500. If 16% sales tax is charged then calculate the amount of sales tax on 50

such bicycles.

(b) Solve with the help of logarithm, 2:38 x 3.901 238x3900 L f e AT ) 4
| 4.83 483 o' % <
; | p . i | SR

3.(a) Inserttwo G.Ms between 4 and X e #00 Syl ndl 5 sa (a).s . ] M
] ) . | | C . | ¢ 4
(b) Verify that (4 B)" =4S ~BCif, S(AUB) = AN Sk (p) i
={1,2,3,4,5,6,7,8,9,10,11,12} U={1,2,3,4,5,6,7,8,9,10,11,12) 10
A ={2,3,4,6,8,9,10} A ={2,3,4,6,8,9,10} .
B={2,3,5,7,9} B={2,3,57,9} ', -l
1.(@) Draw the graphof y=3x+5 _Z,‘:;ulfb’y =3x+5 (a).® ’ ;
() For the given data find the median and mode. . ,ziir;"’,,b/;t,_/'u/;b’:lréé.; ) '
3’5!63898!9’10 39516§898;9) lo 3
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